
82

PA
G

E
S

 8
2 

T
H

R
U

 8
4 

  
  

  
A

C
C

E
S

S
O

R
IE

S
 –

S
P

IN
N

E
R

 R
A

C
K

Part # Packaging
Master Carton

Quantity Weight
08765 5 Boxes 1 148 lbs.

BATTERY ACCESSORIES & ELECTRICAL CENTER
One stop display for your battery accessories and electrical wire needs. 

Keep a complete line of products in a small amount of space.

SPINNER RACK
KIT INCLUDES: 
• 4-Sided spinner rack 

w/ 12x48 inch panels

• Complete line of battery
accessories including
terminals, tools, corrosion
protection items, hold-downs
and booster cables

• Wide variety (color, length,
gauge) of electrical 12 volt
automotive primary wire

• Highly visible header sign

• Planogram diagram to 
reduce set-up time

• Peg hooks

• Stock re-order cards

Additional 50 pack of stock 
re-order cards available. 
Order Part #07752.



83

A
C

C
E

S
S

O
R

IE
S

 –
S

P
IN

N
E

R
 R

A
C

K
PA

G
E

S
 82 T

H
R

U
 84

Panel A

Panel B

1 1 1

2 2 3

4 5 6

7 7 8

9 10 11

12 13 14

15 16 17

1 1 2

2 3 4

5 6 7

7 8 8

9 10 11

12 12 13

14

17

19

Loc. Part # Description No. Pegs Pcs. / Peg Total Pcs.
1 00350 TERMINAL, HD UNIV 1/CS 3 4 12
2 00366 TERMINAL, HD COMM UNIV 1/CS 2 4 8
3 03067 TERMINAL, HD UNIV EPOXY RED/BLK 2/CS  1 3 3
4 00353 TERMINAL, SIDE ADAPTER POS/NEG 2/CS 1 2 2
5 00324 BOLT WITH NUT, 5/16 -18 x 1-1/4 2/CS  1 3 3
6 01253 PROTECTORS, TMNL COMBO SIDE & TOP 2/CD  1 8 8
7 01056 TERMINAL, NON LEAD UNIV 2 4 8
8 00639 TERMINAL, MARINE BRASS 2/CS 1 2 2
9 00148 TERMINAL, MARINE EPOXY RED/BLK 2/CS 1 2 2
10 00354 TERMINAL, MARINE POS/NEG 2/CS  1 2 2
11 00512 TERMINAL, HD UNIV BRASS 1/CS  1 2 2
12 08864 CABLE, 4 GA SPLICE TOP POST DUAL CABLE W/1 LEAD NON-LEAD 1 1 1
13 08865 CABLE, 4 GA SPLICE TOP POST W/2 LEADS NON-LEAD 1 1 1
14 08866 CABLE, 4 GA SPLICE SIDE POST W/2 LEADS NON-LEAD 1 1 1
15 08863 CABLE, 4 GA SPLICE SIDE POST DUAL CABLE W/1 LEAD NON-LEAD 1 1 1
16 08867 CABLE, 1 GA SPLICE TOP POST W/2 LEADS NON-LEAD 1 1 1
17 08868 CABLE, 1 GA SPLICE SIDE POST W/2LEADS NON-LEAD 1 1 1

Loc. Part # Description No. Pegs Pcs. / Peg Total Pcs.
1 00351 TERMINAL, HD REPL SIDE 1/CS  2 3 6
2 00325 BOLT, SIDE 3/8 OE REPL SHORT 2/CS  2 4 8
3 00543 BOLT EXTENDERS, BRASS SHORT SIDE 1/CS 1 2 2
4 08766 BOLT, SIDE 3/8 OE REPL LONG W/LEAD SPACER 1/CS 1 3 3
5 00548 LUG, COPR 6 GA 1/4 STUD 2/CS 1 4 4
6 00549 LUG, COPR 6 GA 5/16 STUD 2/CS 1 4 4
7 00547 LUG, COPR 4 GA 5/16 STUD 2/CS 2 4 8
8 00685 LUG, COPR 4 & 6 GA 3/8 STUD 2/CS 2 4 8
9 00546 LUG, COPR 2 GA 5/16 STUD 2/CS 1 4 4
10 00544 LUG, COPR 2 GA 3/8 STUD 2/CS 1 4 4
11 00545 LUG, COPR 2 GA 1/2 STUD 2/CS 1 4 4
12 00539 LUG, TIN-PLTD COPR 2/0 GA 3/8 STUD 2/CS 2 4 8
13 00540 LUG, TIN-PLTD COPR 2/0 GA 1/2 STUD 2/CS 1 4 4
14 00574 NUTS, GROUP 31 CLOSED TOP 3/8" HOLE 1/CS 1 4 4
15 00575 TERMINAL, CHARGING POST 3/8" STUD 2/CS 1 2 2
16 00197 CARRIER, BATT SURE GRIP 1/CD 1 2 2
17 08861 SIDE/TOP WRENCH 1 2 2
18 00386 TERMINAL, CHARGING POST W/EARS 2/CS               1 2 2
19 00193 BOLT WITH NUT, 1/4 -20 x 3/4 2/CS 1 3 3
20 00862 CABLE, BOOSTER DUAL CCA 8 GA 12' 500E BLK/YEL 1/BAG 1 2 2
21 00146 CABLE, BOOSTER 10 GA 10' W/50 AMP CLAMPS YELLOW 1 1 1

BATTERY ACCESSORIES & ELECTRICAL CENTER PLANOGRAM 
(KIT PART NO. 08765)

15

16

18

20

21



84

PA
G

E
S

 8
2 

T
H

R
U

 8
4 

  
  

  
A

C
C

E
S

S
O

R
IE

S
 –

S
P

IN
N

E
R

 R
A

C
K

Panel D

1 2

3

4

5

6

7

8

9

10

11

12

13

1 2 3

4 5 6

7 8 9

10 11 12

13 14 15

16 17 18

19

20

21

22 23

Loc. Part # Description No. Pegs Pcs. / Peg Total Pcs.
1 00394 WIRE, PRIMARY 18 GA 40' 80 RED 1/CD 1 2 2
2 00395 WIRE, PRIMARY 18 GA 40' 80 BLK 1/CD 1 2 2
3 00474 WIRE, PRIMARY 16 GA 28' 80 RED 1/CD 1 2 2
4 00475 WIRE, PRIMARY 16 GA 28' 80 BLK 1/CD 1 2 2
5 00472 WIRE, PRIMARY 16 GA 28' 80 WHT 1/CD 1 2 2
6 00399 WIRE, PRIMARY 16 GA 28' 80 GRN 1/CD 1 2 2
7 00398 WIRE, PRIMARY 16 GA 28' 80 YEL 1/CD 1 2 2
8 00482 WIRE, PRIMARY 14 GA 20' 80 RED 1/CD 1 2 2
9 00483 WIRE, PRIMARY 14 GA 20' 80 BLK 1/CD 1 2 2
10 00480 WIRE, PRIMARY 14 GA 20' 80 WHT 1/CD 1 2 2
11 00484 WIRE, PRIMARY 14 GA 20' 80 BRN 1/CD 1 2 2
12 00481 WIRE, PRIMARY 14 GA 20' 80 BLU 1/CD 1 2 2
13 00479 WIRE, PRIMARY 14 GA 20' 80 GRN 1/CD 1 2 2
14 00478 WIRE, PRIMARY 14 GA 20' 80 YEL 1/CD 1 2 2
15 00490 WIRE, PRIMARY 12 GA 12' 80 RED 1/CD 1 2 2
16 00491 WIRE, PRIMARY 12 GA 12' 80 BLK 1/CD 1 2 2
17 00498 WIRE, PRIMARY 10 GA 8' 80 RED 1/CD 1 2 2
18 00499 WIRE, PRIMARY 10 GA 8' 80 BLK 1/CD 1 2 2
19 02941 WIRE, BND PARALLEL 16/1-18/3 25' WHT,BRN,YEL,GRN 2 2 2
20 04367 TAPE, SELF FUSING BLK 1/CS 1 2 2
21 04368 TAPE, SELF FUSING RED 1/CS 1 2 2
22 00915 TOOL, CRIMPING/STRIPPING PW 1/CD  1 2 2
23 08751 VOLT METER, DIGITAL                               1 2 2

Loc. Part # Description No. Pegs Pcs. / Peg Total Pcs.
1 00682 TOOL, CLEANING & CUTTING 3-WAY 1/CD 1 2 2
2 00254 CLEANER, BATT POST & TMNL 1/CD  1 3 3
3 00181 CLAMP, TUNE-UP/TEST EQUIP 50A RED/BLK 2/CD  1 3 3
4 09645 HOLDDOWN, GM WEDGE BASE MOUNT 1 2 2
5 00182 CLAMP, VINYL-CTD STEEL HD 500E RED/BLK 2/CD  1 2 2
6 09646 HOLDDOWN, FORD WEDGE BASE MOUNT 1 2 2
7 00317 KIT, BATT TMNL PROTECTION  1 2 2
8 00246 HOLD-DOWN, UNIV PLASTIC ADJST CS 1 2 2
9 00242 BOLTS, HOLD-DOWN J TYPE 10" 2/CD 1 2 2
10 00678 HOLD-DOWN, KIT SK PK  1 2 2
11 00684 BOOTS, TMNL STR 4 & 6 GA BLK/RED 2/CS  1 2 2
12 001956 CABLE, BOOSTER DUAL 10 GA 12' ALUM SLV 1 2 2
13 00916 BOLTS, HOLD-DOWN J TYPE 8" 2/CD 1 2 2

BATTERY ACCESSORIES & ELECTRICAL CENTER PLANOGRAM 
(KIT PART NO. 08765) (CONT.)

Panel C



85

A
C

C
E

S
S

O
R

IE
S

 –
B

O
X

 &
 W

IR
E

 R
A

C
K

PA
G

E
 85

Part # Packaging
Master Carton

Quantity Weight
08773 Bulk 4 32 lbs.
08774 Bag of 9 Dividers 4 4 lbs.

Part # Packaging
Master Carton

Quantity Weight
08772 Box of 1 1 17 lbs.

4 ROD WIRE RACK
• For storage and organization

of spooled wire

• Holds spools up to 7" in
diameter

• Wall mountable

• Grey powder coat is rust and
acid resistant

• 261⁄8" W x 6" D x 371⁄8" H

METAL ACCESSORY
BOX AND PLASTIC
DIVIDERS
Organize terminals, lugs, nuts &
bolts, heat shrinkable tubing,
solderless terminals, and many
other small accessories in our
line.
• 18" W x 12" D x 3" H

• 3 fixed vertical dividers

• 9 plastic horizontal dividers 08773

08774

Part # Packaging
Master Carton

Quantity Weight
08780 Box of 1 1 20 lbs.

TWO-SIDED DISPLAY RACK
• For storage and organization

of wire and cable accessories

• 191⁄4" W x 481⁄4" H
(Overall Height: 60")

�

�

MADE IN

USA

�

MADE IN

USA

�

MADE IN

USA



86

PA
G

E
 8

6 
  

  
  
A

C
C

E
S

S
O

R
IE

S
 –

B
A

T
T

E
R

Y
 IS

O
LA

T
O

R
S BATTERY ISOLATORS

Enhances your alternator
performance for efficient
charging, maximum power,
longer battery life, and safer
operation.

• Protects main starting battery
from auxiliary drain

• Regulates current for 
multi-battery system

• Ideal for automotive, marine,
and RV applications

ISOLATOR
INSTALLATION KITS

1Contains: Complete instructions, various 16-14 gauge terminals
Sensor wire for “S” position on some GM alternator connectors and primary wire

2Contains: Complete instructions, various terminals and connectors, 15' of 8 gauge wire, and a 50 amp
circuit breaker

Part # Description Packaging
Master Carton

Quantity Weight
087681 CS Isolator Kit Clam Shell of 1 10 1 lbs.
087692 Isolator Kit Clam Shell of 1 6 1 lbs.

Part # Description Packaging
Master Carton

Quantity Weight
08770 Isolator 95 Amp Clam Shell of 1 6 2 lbs.
08771 Isolator 120 Amp Clam Shell of 1 6 3 lbs.

08768

Without an isolator.
In a multi-battery system, the battery with the lower state of charge will drain power
from the battery with the higher state of charge.

The benefits of using an isolator.
The battery isolator protects your starting battery power so that no matter how weak
your accessory battery becomes, the accessory battery will never drain power from the
starting battery.

Additional benefits of using an isolator.
The battery isolator also saves time by allowing simultaneous charging of both batteries.
The amount of current flowing into each battery is determined by its state of charge,
which guarantees that each battery will get fully charged, prolonging its life.


